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There are 150 objestive multiple cholce questiona in this paper, This Question Booklet is made up of the following
five Parts : Parlg-1, 05 10, 1V & ¥ of 30-30 guestlons each. The candidate has to attempt all Parts, Each question
is of ene mark_ There is no negarive marking for wrong answir.
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Total questions : 150 Time period ; 180 minutes Maximum Marks : 15
Mo, of Ouestion Nos. Page Nos.
g e ] Questions [~ From | To From To
(1] Child Development and Pedagogy a0 1 20 ] 13
(] Language I {Only One Language] a0 1. 3I 50
As zelected by the candidalc a8 medium of
matraction o the  Applicafien Farm o fiem the
Languages given Below
Tamil a0 a1 G0 13 16
o 30 31 &0 17 20 |
Malayalam 30 51 &0 21 26
Kannada 30 al GO 27 a0
Urdu 30 31 B0 3i a4
I -
(IIT} Language 11 - English 30 &1 an 35 40
[TV Mathematics 3o a1 120 41 52
v) EVS aon 121 150 B3 G4

| Read the instructions in Tamil & English at Page No. 68, last page of this bookiet, |
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PART - I

GPrhens Gubur® whnbd spilésed
CHILD DEVELOPMENT AND PEDAGOGY

Guugdllles 30 elenramet o efrerar. Semanrdg alleniamensgh alar wellas On i (R

There are 30 questions in all in this Part. All questions are compulsory

2002-60 ungmgpwenpSdles GlareE® UL L ..l SpEud sTEEr S
flpppsdleny 14 QUGS SR HGS GPHOSHEhGED @eveus Sl TS
savadlyd, saalllde sugaieuiphd, spambliysenn seflésiu’ fea aing.

A) 86 g B) 45 sug

C) 93 aug D) 58 sug.

Children below 14 years must be given free and compulsory education, equality
and equal opportunities in education. It is according to the ...
Constitutional amendment of the Parliament m 2002,

A) 86 th Bi. 45th

) 93 rd D] 38 th.

Gl Lyeiren LeURSEnaT 0T G G1UIT & T gmiserm & Beu UL BET &)
& 4 S|l cplllpol

QuIrgLEmUseens SeitiL by & sab shligss (pempn

A) ugssd wep Bl Gasrgead apamn

Cl  seipl peop . D} Qewsdll L (pain.

The method which helps to identify the common characteristics by comparing
the relating experience on their own iz

A) Deductive method B) Inductive method

C) Heuristic method D}  Project methed.

%ﬂrﬂmr‘r SEBTLIGUT .oiviiciiiinnns, 208 @lRSES GUTE ol HuurL o Glelgd semwurs
@pLudievens.

A)  syaryd ufleygd Glaredor et
B) all@our_ib syefliudlé Cpdlhadndiann Gareaom st
C)  eLuuTLgma Lgiewwurs syeTliusur

D) =Es Foeow Glere e,
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Homework need not be burden, if only the teacher i
A) has love and affection B is flexible in assigning work
Cl is innovative in assigning work D)  possesses extraordinary talents.
4.0 Geitus eflerouy veesdla g lgss Geliyl o g6 Cuwemg) Ll & heyL e

Hovmbe prailés B sareus)
A} sparer SudsBlaaynssh B]  Glane =yée Blemauyngsn
C) Giflasll o) baflomablaeuyn st D) Geraburmer oy b Hleaynsan.

salivation of some people while looking at the name of their favourite sweet on

the name board of sweet stall itself is

A Simultancous conditioning B)  Verbal conditioning
C) Discriminating conditioning D) Semantic conditioning.
5 saih cuglLeEmpdld ek eTeydGs shneys sEs@Galaain’ B Cewudufdnmteaeh
k. el ekichUllecymillicy ‘:.g;. .@-l I]@ ‘_J‘_P.‘;u .l'g} @ whl L l;_;. [ﬂ ]
. ereTIgl @meni et Clmweney BuisGlHTL iy Glenedor Herersl argl 2
A) shad graw(h mssiClurmeisa Gumneta| Elkasd
..-"" r— s 3 s v = - v = -
B)  wremeutseng perailel wengdlen yashaeion oy sss s
Cl wremreutsefien Gu Glugswerey sramiiLfn Hlonaprs Seursers Csaeaset

L wremaitseng Gameusaer o diflut pag o dlmssa.

Which of the following is directly related to how much they are motivated

towards learning in the classroom activity ?

A) Presence of more incentives which induce learning

Presence of innate potentiality in student's unconscious mind
) Unfulfilled needs of the students

D) Teacher realises the need of the students,
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F> Qurwhenss BTN _gybeh, Cewuhems gioobisansGn  Elem Guwres  @)emearien
eusIL(Ss . Glewbens Hireor_ao
A) EBlwnemad geukissg s Llurgennliubsscs Seusts Hib
13} EBumem & g;‘]'@ﬁ'ﬁj;..p}qj:’ﬁ@ (sl ;_-‘;;ii"'u:ﬂ_'F.-';E:.L'_l_ll_ @ms-m@nh
2} Glbem s T anL e R5ESTE Bihes Geuey (i
D) Quubsnes gebsesdgiilda Bmss Coetn B,
For strengthening the connection between the CS and the CR, the CS must
A) generalize to the UR B) proceed to the US
£2) be identical o US ) be followed by the UUR.
e bwraney Galsmwe Glurrener aREsTeO SiboradE Gsmul sumb  eeTLSTE
S ©ls Ludoal gl eTer Glphend o ool gmieug)
Al hemL_(Lpemn cuipddlds §)deurs Kleamey
1) memL_(Lpenn eupd@sEl Ulkoaw Bl
L HERL_(LPED) ELILDSE hlee
D) BHEBL_(PEnD eUDSHEHEG (phHEn L leman.
A child doesn't take any article without the knowledge of mother, since she may |
get angry. It is
A) Non-conventional stage B) Post-conventional stage
C)  Conventional stage D}  Pre-conventional stage
8. sallnui oyepeowau CobliPsseudle wpedlu Lbe adiusTs ghere = emailus

SIDIGHT Rl &k Hleus

A)  dlmen mey B) memamla) Fe
Cl  warGlauapé & mey D) sapéEs Fey.
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Modern psychologists feel that ............... Is important in improving individuals
personality.
A Competency Quotient B) Intelligence Quotient
C} Emolional Quotient D) Moral Quotient.
9. (LpTHES Sl Siblemeub, SH BT &0 8 (Ih & F & enemuin GlarL fLuf&d
2_(FEUT S HULIEGS
A)  ew susmuL b B)  GQurmés elends b
Q) Qar i ederdanols D) s@sHa alerdslin b,

The map/chart formed by relating the previous knowledge with the present

knowledge is
A Mind map B) Cverlapping chart
) Flow chart ) Concepl map.

10.  ZPD erédtug

= A Zeal of Primary Development 3] Zone of Proximal Development

C) Zone of Personal Development D} Zone of Power Department.
ZPD means
A) Zeal of Primary Development B) Zone of Proximal Development
) Zone of Personal Development 3} Zone of Power Dlepartmr.-':nt.

11, udipslbles eflenenubsmgu BirhsyoraBaert pLsans rdnGe shmey eremd s iblue
Al sriramen & B) &lGenar

C) TR AL Ve D) sallem-EuL e Gueni.
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“Learning is the permanent change in behaviour which is the result of training",

is said by

A Thorndike B Glacer

C) Atkinson , D)  Kavin-Padon Major.
UL &6 Lildicus

A)  sde Hlaeynss shpe B)  apweityy seublée e

C) ol sboe D) e lerdl euflésahne.
Learning typewriting is

A) conditioned learning 3) rial and error learning
) pmgrmmmzd lcarning ] insight learning.

o T 0
&oT Gnlunl_ufising.

i.“_.]

Glrwdu 2,68 Hemallpdan oo

A) R-queng sy &mblensiwmndso B) S-cusme syé&sbleneiyngss

C) A-cusme | Sableneu s b D)  B-oumes oy bsblaaynsss,

Operant conditioning is also known as

A) R-type conditioning B S-type conditioning
) A-type conditioning : ) B-type conditioning.
e &dlel gpU L1y Lpdlueur, (_Lpgmr ey avanl i gl appuln G

rHElGatu Gledian LPUGIS ..o BHDES WTHDID,

Al Grrg B) edliweny

C)  Gebnu D) usd.

(oLt &

T Eligy

A person who knows to ride cycle, initially prefers the side part of the road only

after he learnt to ride scooter. Itis ..............., transfer of learning.
A) positive B} negative

) ZETO I3)  partial
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cuemas LT ganns

@)\emenut
#&eeumen.
Conjunctive

Complex.

............ e syerall LwsTLRSIDE .

<2, IETHEMLD

.g%frm I,

Personality

Interest.
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15. sadfasdan odalludan vweaURssLLES
& H GG el
A usuBumpEn B)
) s Eue B)
Type of concept formation used in Maths and Science subjects is
Al Corncrete : B3)
C) Abstract D)
16.  pésryed genGandl ageurddiu Qe ...
A) &% ES B)
C) (DG L LI 607 GELD ]
The inventory designed by Mutharani Rastogi helps to measure
A) Self concept 3)
C) Attitude [3)
17. ®rb QarLihs g Gurgsile W] * o

Claayss (puTg.
A) (3] B)

) 8 )

allenme sEmae Qo Helab

10.

We cannot pay attention to an object continuously more than

seconds.

[8)]

A)

3]
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G pbGEGy  Gareanpis  Aepidowus s, Glawmar mErd  peGu

o= €

Siilth gy Gemmin GTETI BISHLILTEND &7 eunrLis)

A) ﬂr_@m:ri-g@a B) Sl @& Cemetad
) Benmiiey D) Blenanelldimssd.
Identification of an incident, that has happened earlier is

A) Recognition B)  Recall

C)  Review * D) Retention.
LT fleaeg Gurmet sapd: apaud CerdlésiuFes

A} GQurmdinen Bl leveey

C) sysssdne D) mesmanibley.
Giving meaning to the proverb is used to measure

A} Aptitude B] Memory

(| Creativity D) Intelligence.

G E&58neE Blebsaflb sramiiuLrg ey

Al dprf sameuens 2 e wums SRLILIE G T e T B 6

B) Upf sspieuens safhay seusiud

Cl  gGpaib g Virésmaraut upf fbdsss ol meor iy (& s
D) elflflpgenen Cameimgmasd.

Characteristic which is not found in creative persons is

A)  immediately accept others' sayings

B) keenly observe others' talk

C)  often thinking about any one problem

D) to have divergent thinking,
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21.

22,

et costbley Liiiu pewnsd Ceraians eaiufeus)

ap ' - ~ 1 " . O 7~ .
A cphenng anyedis Qeradans Bl @l anyeoe Llereians

T
C)  uesnrewld Glemeians D) @uherremils Glareime.
"Monarchic Theory” of intelligence is

Al One-factor theory ' B) Two-factor theory

C) Multifactor theory D}  Group-factor theory.

o basdna e CnEphewus Cler iy CIeHTeomL et (s .
A) Qur@menreryh Bl ez eang
C) menmdaamey D) @Qmdlpeypr seemio.

There is a close affinity between creativity and

A) CeOnomy B) physigue

3

humour En rigidity.
epheutles @l Sl ..o, 2 e Gld gemown Geustm(Rib.
Al gpupd Bl Gleupd

&) Garéiall D) pablenaphsib.
One's goal should be based on

A) Effort B) Success

) Failure D)  Moral
meGaTphe cuentédlanw epeiny BlenasenTs LGHHn

'é

i Ty . o AL P
Al Ein&E e B (EHRTEULIT &

b

) il e D) ;323:"1'-5},{3 BT .
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Three stages of moral development have been categorised by

A) MeDougall B)  Kohlberg
) Erickson 8]} Jack Mayer.
Hmméeg 2 seausele walpEsl GClarsignse g

Al wanGleugpsdl apdlied B] e wrimo

Cl  spmeuens welpes D) gpmeuens Grésh.
Getting happiness by helping others is

A) Emotional maturity B) Sublimation

) Type of delight D} Type of sympathy.
@lewsdlar Gewaum ey Gss SWssEDsYDL S HULESEn anmiGoed
Al sy Mesieblea B) !'_E)I'I'f‘T--.LmI._IﬂE-C-E gbleht

C)  enmirédle D]  urgrgriGomest.

The hormone which controls the function of heart and blood pressure is
Al adrenaline B) noradrenaline

C} thyroxine D)  parathormone.

FpS G submleT  ThS QI SaETELTHl  UTTuemss Gerauf Spdaen

Lheusdlé sramiufaudldenes 2

Al Glunplsshler wrprdsssremne yflad

B)  Glum@l seflen Lss Lisdmsemen s snwsdle o amTad
€)  2lflghp Gurel smer 2 maranars Lralssd

D)  @hohseer syeraler syqiuest s ndidgsd.
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Which one of the following is not found in concrete operational stage ?
A) Understanding conservation concept

B) Decentering

| Animism
D) Judging crime in quantity.
28,  Fpdsanaubnel 3|6 Hme ufdhw sflure sabo &8 7
A) Acedlc @ Qewdu gresaiin B) oL éimesens UTHISHSHTE
C)  sbdenw sefl&Edns D) el eriene ghURGHT S

Wwhich of the following is the correct statcment of fear ?
A) Induces to plan and execute B) Doesn't affect the health
C}  Gives encrgy [)) Doesn't create awareness.

sy L i oy a ™ . a s s 1 1 '}
29. GQeapeneul Llg &h&TE wmifles), Ggempemend b emesaenifn Elewin) g a6

\ . i " . ; hi B
Al ST Iro L Gat SEuTLD _ E) f.:_L,@g(_ﬁ-E.::.Jéﬂl_m@;(L; B Gl Ty En
C) UL euThlGluet comih D] o amite snblsmendesmio,

As Yazhini dislikes Thendral, she shows aversion towards Thendral's associales,

This is

A Prejudice B) Inner-outer group feeling
) Stereotype ) Emotional imbalance.

30, efasafler saps QarLiusst  nbniiug arBan  pHULE  Clawer DD Liezom ey

Gledveun &g eudliig

A)  ueirefil B) &M @Ebhub

] (60T LUT G &l D) EITHL,

According to Erickson social relation. ................ 18 responsible for initiation.
Al school B basic family

C) friend D} mother.
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@L’JJ@[;_{_@IJ g0 30 eNlesrmamelr o efrement . 2T 6TT 5 | aﬂaﬂ.‘réﬁh-@r;éﬁ@m elemi wefldEs Caiginms

31, alenm, aflem susmasen
Al 5 A B) G, 8
£2] 4.6 D) 4.3,
32. @pbosila ugldapetpr Elisefle ebais ..., LI QUL D
A) (PSS B) aumensl
) 2ybLyell D) Glerdemy.
33,  waGaeallh G euid eTeiTLIg)
A)  yevesdil, yylomé : Bl  fladleor, eneusnsl
C)  syefl, o D) wiudl, ertsdlans,
34. Mley SLLé sratmug
A)  Gleul 8l : T B)  sihens
) Gimmadl D) o
35. Geadlprt Qumpwrss simeflug
A) Flimealemerum_dy Ly emin B) Sleuymmenos
C) Gutluygresin D)  seuygrend.
36. sewilaflden phang e gjempdaiuFuers
A) Beretu Lmeua & B)  emfeve uriGugh
C)  YoQuirent ef D)  amrieuri(.
37. wiofihsl yaeuflGes sbusmear GUIE ... ETEETM) LITIG G .
Al uysGphdl : B gl s,
Cl umpdlwrd D)  urpdlaree.
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46. Glarfésiu’ Qeier Qerdaabe @adsend GOILLS S
et
Al allsmen &Q s rEme
B) aleerCuésn
C) Gluwblyéeo

D)  afluwiBasnst allemen apin el

47. 2 onb e SIEDEQHTE i eretTm Glamaustlel SpglusmL wrasd Uinhsal.
Al 2_Guih B) 2z emey
C) 2_Guey ) 2 6.
48, EBSGDEN .ovveniiciaiis GleussmumdmenTer Sy 60t HTeum G,
Al A edhwds B}. &Dsi
C) Cuflane D) Flordame.

49. garden Gubdlueurt

A i B) L.JFF:(ELDEGHQE#
C) st Guosrallwmd D) Gadkdlipr,

50. Glurg Curiflég a@EassTLE
A) ELIEBT B)  upees UDBSS
C)  Hleud I D) &lﬁgm:‘r@.
51, =i@s HLoug urdGur 2 elCpr 1 ser allereayaug
Al sydlellem B) swellerm
C)  spluralert D} GarendailanT,

52, uedoyy Quwi yesorisd) aldlsel

A enih & B) <2, 1
] ' . P
C) (LD Dy alm. j
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53. wmhiler gpaTrh BonhE aubs Care
A)  dlamemenm B)  cuenemius
6y b D)  euwesr.

54. Gleustmunedlen Emg

A)  gerere B) Glelud
Cl oymald ' D} g,
55. GHLUL QNTHG .....ccoooecoen. UL ES SOIbeTaN RS e cpeiT).
A)  urpdlamess B)  urgdlwr
C) &y D)  eurexflarsen.

56. dlparsssms shdlasdis Gumfl Quuisseart

Al smfressurGush B) @ 0edsremn
C) SlwermiGur : D) - & y. Gumy,
, 57. unsslemermme Glomgsn
Al usreflgesm B) &l
C)  usa D) gbg.
= _ 58.  e.cumn@ws sl QUTGeaTl CQUD @EUIUS .o, 2@ S0,
Al sheduGubn semll B) Uflg Gurflsees
C)  Glurmer Bleeaumdlanewssd] D} ez suewwesi.

59. Gluesmurales cusnssmeh
A s B)  &L(
C) ha D)  mren.
60. GamyiL @) &g Blyoys
Cesalpriles GUbOLILF ..o, .
Al imeEnCuorflEGseurt B) 2 ggsuwGempliucieueut

#, C)  Glebeus Caddlpri D)  Qgregor i Lyeyeun,
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PART - IIT
ENGLISH

There are 30 questions in this Part. All the questions are compulsory.

Replace the italicized word in the following sentence with the correct phrase

chosen from the options :

L am not going to tolerate their smoking any longer.

Al put across Bl  put up with
Cl pul out 8]} put off.

Pick cut the word that can replace the italicized phrase in the sentence given

below :

She went for him with a cane.

Al approached B) iroubled
C) lifted ) attacked,

A piece of dialogue has been reported as, He said that he'd come later. What

would be the exchange used in the dialogue ?
A) I may come later B) [ come later

C) I'll come later D) I came later.

( Q. Nos. 64 to 70 )

64.

Fill in the blanks by choosing the right options given along with each question :

Her father won't come this time, ...oo.ooovvvviiviinins, =

A) will she B) won't she
C) won't he D} will he,
They play cricket every SR, o
A) aren’t they B}  don't they
C) are they ' D} didn't they.
. ' '""[__gm'- RE | A Turn over
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ST 5 T [ — e him yesterday.
A} mel B meets
i | }I'd-;(.l med ) have been meeting.
67. A notice was exhibited .......... R, the notice board.
A) in I3) al
C} on B} with.
68. She has been waiting for him ........cocooeen000. o hours.
A since B for
C) by ! D) of
B3, A posUnan -is ONE v sadui o delivers us leiters.
A) which B}  what
C) who . D) “where.
70. Before the bell rang the students <. lh{-‘_: hall.
A) had lz"i'.i B) leave
C) will leave _ D) are leaving,

71. Which of the following options would correctly fill in the blank seen in the given

dialogue ¥

Teacher : Hello, Smitha ! How are you ?

Smitha : Fine, ma'm, Thank you.

TESCHEEES e e i i s DU 0

Smitha ; [ was not well.

A Where were you last week 7 [3) Where did you last week ?
A

C) Where was you last week ? D) Where do you last week ?

| D | 1001-RE |
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— 72. The sentence, “Take a left turn and go straight” is an expression for

A making a request

B) seeking permission

C)  giving an advice
D) giving direction.

73.  Which of the [ollowing is the best instruction for asking children to bring their

textbook everyday ?
A You must bring your textbook everyday
[3) Please bring your textbook everyday
C) You should bring your textbook everyday
D) You should not come to class without textbook.
74. "No, Murali doesn'l want to leave early,” is the answer to the question

A Did Murali want to leave early ?

5] Do Murali want to leave early - ?
C) Does Murali want to leave early ?
D) Has Murali wanted to leave early ?

75. Suppose you want to teach the word ‘Pat’. Which one of the [ollowing is the

casiest way to teach it ?

A) Drawing the picture of someone patting

B)  Telling a story in which the word 'pat’ is used
C) Using-the word 'pal’ in a sentence

D} Showing the action of ‘patting’.

D | 1001-RE | [ Turn over
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{ Q. Nos. 76 to 85 )

Read the passage given below and choose the besl answer for each ofl the

questions that follow ;

What wrilers struggle to express through numerous newspaper columns, the
cartoon manages in a pointed one-liner. Little wonder then. that the first thing
most of us like to see when we pick up a newspaper is the cartoon, Simple
though it may seem. making a cartoon is an art that requires a combination of
hard work, training and a good sense of humour. Cartoonists say that the
cartoons that make us laugh the most are in fact the cartoons that are hardest
to make. Even celebrated cartoonists like R..K. Laxman admil that making a
cartoon is not a piece of cake. Laxman says he has to wail for over six hours.
which includes spending a lol of time scanning newspapers and television

channels belore any idea sirikes him.

How does one become a cartoonist ? There are few colleges or schools for
carfoonisis. Established cartoonisls are of the view that no institute can teach
vou to make a cartoon. While basics, like drawing and sketching can be learnt
in an arl college, these alone will nol make a good cartoonist.

What is the typical quality of a cartoon ?

Al Elaborateness Bl Vivid details

C) Sharpness : D) Simplicity.

The greatest difficulty cartoonists face is

Al getling an idea - [3) giving a caplion

C) publishing : D)  sketching.

Whal are considered as the basic gualities to become a good carloonist ?

Al Training and hard work
E3) Creativity and sense ol humour
) Hard work and humour

|B) Art schools and colleges.

[1001-RE |
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Who are the ones who hold the view that no institute can Les

= " T
cartoon ?

All cartoonists

13 All well-known cartoonists
B Mosl of the cartoonists

) Every carloonis

L +y1e2d = on E Ay ol P .
LI major source of ideas

[or a eartoonist is

A NEWsSpaRers B Lelevision
ek}

) history D) media;

‘Little wonder' means

=

some wonder B) full of wonder

) no wonder D) a litlle wonder,
Pick out the word from the passage that means. ‘two or mo
together to form a single unit’,

M)

NUMerous Bj celebrated

) admit D) combination,

Find out the odd word from the ones given below ;

it} Struggl: Bl Say
) Sense

D) Simple.

Pick out the sentence that is similar in meaning 1o, "There are
schools for cartoonists”.

IFew colleges or schools are there for cartoonists

I3) Colleges or schools are few there for cartoonists
C] Few are Lthere for cartoonists colleges or schools
}) Few cartoonists

sts are there in colleges or schaools.

LOGY] = RE-

com

TNTET (RE)-1

wch you to make a

fa |

re things joined

few colleges or
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85. Identily the sentence similar in meaning to, ‘These alone will not make a good

cartoonist’,
A A good cartoonist alone will not be made by these
B) A good cartoonist will not be made by these alone
) A good cartoonist is made by these
D} A good cartoonist is not made alone by these.
86. Which among the following is not associated with a ‘word’ ?
A) Syntax B)  Pronunciation
C)  Synonym D)  Syllable.
87. Which of the lollowing sets of words has more than one category of words in it ?
A} walk, swim, jump, moan
B) happy, power. slow, weak
C) dclm_'minud, tall. strong, clean
Y}  beauty, sight, honesty, intelligence.
88. When you read something quickly in order to lind the main points you call it
A skimming B}  scanning

) intensive reading 5] extensive reading.

89. Pick out the correct pronunciation of the word ilalicized in the [ollowing

sentence :
The sport has a strict code of conduci.

N / ko ndrkt / Bl Jkondikt /

C) / kdndAikt / : D) / kd ndikt /

90. The number of syllables in the word ‘beautiful’ is

£ Al four Bl two
C) five D) three.
|_D i i"l{m']-iir;
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u@dl - 1v
PART - IV
& 60Tl & 1D
MATHEMATICS

@uugsliiles 30 ellerssei 2 aanc. Hyoarsg) allarmémended elle welflde Couen@in,
There are 30 questions in all in this Part. All questions are compulsory.

91. en wslasramadldr Usskser a, b, ¢ eelld

A) a—-ho>c¢ B) b-a>c

C) c>a+b . D) b<c+a.

If a. b, c are the sides of a triangle then

A) a—hs>¢ 3] b—a=c

=] c=2a+h D) Breica)
92. g Jaransdler Qargdliflayn, LeSlfleud a1 gmé sl Gib Curg o@e el ‘é
@Gs Gure QameAillen, ugdllleyn erevor 1 mé sbla@nhCurg e wdiy i—

erenfléy ppen Lleenrin

Af - = B 2
5 5

o 3 B =
4 7

If one is added to the numerator and the denominator of a fraction, then it is

2 : . 2
equal to i If one is subtracted from numerator and denominator, then it is

1
cqual to g’ The original fraction is

2
b
3
4

D ; 1001-RE ] [ Turn over
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e
. 3 -
: FR, . . v D T e e e AR e I o by L
93. @penl eewser 3 ¢ 4 eTedim aldflgsdics 2 eteren. W.Glp. W.ollT0.cUlE

GlLmEesnens 10800, eatld eubhmlens g i d
A} 2107 B) 240
) 225 D) 180,

Two numbers are in the ratio of 3 : 4. The product of their LCM and GCD is

10800. Their sum is

A) 210 I3) 240
) 225 [3) 1 80,

94. AABC eeuem  APQR  penGu B, Q- Qenrreampani_w  QahCarso
(G aTeamniiser. GG AB = PQ: BC = QR @ safléu <?fé}'_2-£i:-.:,‘-.«|'!'l-"..ﬁl srtilegsnaled  (Lpeuid

Seney #iiel ol ?
A) 555 B) RHS
<) SAS D) ASA

ABC and PQR are two right angled triangles with right angle al B and @
respectively. If AB = PQ; BC = QR then under which of the following properiics

are they congruent ?

A) 555 B) RHS

. i o ~ - o e = o e e e
95. 8 Qural el o ée alloe 10 ClumEhL senls Al ellanaég sl aeiiay bheiyl

F & HiD

A) 10 1) 20

] 15 |B) 25,
oy [100T-RE]
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The cost price of 8 articles is equal to the selling price of 10 articles. Then the

percentage of loss is

iy 10 . B) 20

€l a5 & D) 25

108 en E-.'i_‘f-’-_.f_i-; Flibhw o etior eoorres Gl e AppShEETD SLED ?
A) 2 By 3

B 4 ) b
Which is the least number when multiplied by 108 gives a perfect cube ?
Al 2 Bl .3

C) 4 )

&n

gleogalpsdl et cuaguL 2 usTensEh@ o sryesih
Al &illhh LIGUan s B) ustu@ssoucc 2 bl

(]| EUGTITILIL (D 13) -._:g!?!;x IRITLT,

An example for non-projected graphic aid is

: Al Magnetic board ; B) Specimen

C) Chart D) Tape recorder.

[ ¥ . " iy * * ' r £l L
DT ET T S T e Goemeudgn, Sl memin & FHmEUTM) LUTL el (5 £ &) 5 7 607 11

o

asfleonlldlphs sgarsddieg ofopad Gelsd. @ag ur-sdlle ool

ST (LPED
Al BT && (peo

B) 2 Qe BdGIey (Lhemm

) grlpmhdl hmih ennwErn b (e
) SEnBULIL| & & G i (LpanD.

[TO0T-E] [ ‘Turn over
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Subject matter is introduced in the increasing order of difficulty in accordance
with the needs and capacity of the students. Here the approach of curriculum
organization is

A) Logical approach B)  Psychological approach

) Spiral and concentric approach I Topical approach.

40 6 15% erediig) @'T areimenla 25% ol 2 odlan eralldy Syeikleustn

A) 16 B) 40

C} 55 D) 6.

15% of 40 is 2 more than 25% of a number. The number is

Al 16 B) 40

) 5b 2} 60.

5;—, E X —g %ﬂ'ﬂ @em_flene 5 eredildy x eTeiiLig)

A 256 B) 20

4] | 15 D) 10.

The median of the scores e X 2 is5. Thenxis
4 2 5 3

Al 25 B 20
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101. ep@y sull st sppenalbeh ounsdiheh 2 eren alsdl 37 Qa8 oL gdle
a e o
£ LmuUETey & lelg 10 oy
Al 154 B} 148
5 259 D} 33 B
The difference between the circumference and radius of a circle is 37 cm. The
area of the circle in sq. cm is
Al 154 3] 148
) 259 D] il
102. spm G‘Iﬁchsuu;g.g.-‘?m [??eT'jJ, SiEeulD ;;Lpemu:f.?iz;! 40 @a.if whmyb 26 AT
B8 Llucleusbilesn  Lifa kel spwlisreflamer (pepnGu Elemermigner gHuE

STLEETHET UTUILISTEY «ovoovverer . 018 15 S4B
A) 1040 B) 2080

) 260 D) 520,

The length and breadth of a rectangle are 40 cm and 26 cm respectively. The
area of rhombus formed by joining the mid-points of the sides of the rectangle in
6T L) R £ R §q. CcIm,

A) 1040 B 2080

C) 260 D) 520

5

W
| B2

103.

P g st LT LR e W it o —T |
b = + — LD & G| eumlen oo eTihh Lt

45

Fl

£3 |-en
Q.':-

&

ks

A)  UR&R Ledty : B) =i LemoiL

C)  uflwri ueer D) sl UL,

| Turn over




WWW.tnpscquestionpaper s.com

TNTET (RE)-1 46

—
1A 4 ) 2 8- _
[ — i — | = — 4+ — is an example for which property 7
Bl 2 LT 45
A) Distributive B) Closure
) Commutative 0] Identity.

104. @ GPLAlL aameméme. 2 afer Carcilmenes 2, 3, 4, 5 oydveusy 6 Buflbd swwrs
" N . - = L) & - . 0
uBslFn Gurgl gelbleur (WenoWD Hib Caredl Wawrdlma. Cuhemesr [bluhsemenemu

Hleope) Clabuyn 56y Caralineilcn o awlaHams
A) 41 B) 121

<) Gl D) 181.

When a certain number of marbles are shared between 2. 3, 4, b or 6 persons,

cach time one marble is remaining. The least possible number of marbles that

= are shared is
Al 41 B} 123
) Gl 2] 181.

105, g6 @il Qsres 5 e iseld m. 6,800 sysab Gogin 3 QUL s EiTE)

5. 6,080 sy oat wpélie) s dlng. aafla waslh .

A) g, 1,800 B} k. 5000

¢l . 3.600 D) w720,




106,

107,

108
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A certain sum of money amounts to Rs. 6800 in 5 years and Rs. 6.080 in

3 years respectively. The principal is

A} Rs. 1,800 B)
£} Rs. 3,600 D)
7 erebim @b semts Caremeullen 2iHHE

A) 2 B)
23 | ' D}
The degree of algebraic expression 7 is

Al . ¥ B
C) 1 D)
a+h=7whnmn a-b =3 aafla ab & wliy
A) 10 3]

C) d D)

" Ris. 5,000

Es, 720.

0.

40

&1

Ifa+b=7anda—-b =23, then the value of ab is

A) 10 E]

] d D]

maolsbdle @resl  100%  wgllGumn sl

40

A b

-

Gluhpyefranmi. @0

™y

00T | il ol

T " , = 0y it i ; o R LR
@U”E@ 20% (Eemneurs @u;r_];_m{.ﬂ@..‘!l'a?ﬂ. f\%ﬁ.’:.’rgﬂg‘-};;e:&au el wurTds 20% Sislslrs

Quibmyefrener. erefie Lumys Gubn wHLGLIETT e

Al 100 B) 120
) 96 o) 84,
[TOOT-RE] [ Turn over
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109.

110.

8y

Rani got hundred per cent marks in Maths. Raju got 20% less than Rani. Iihat'alhﬂ

gol 20% more than Raju. Marks scored by Bharat is

A) 100 ) 120

) 96 [ 84,

spapeut epp eurbleormeatll Gl wew oysa allibuens allaneudsn % T AT Y AT

2me elbusmer el ol 8% sflatu@sd albori. seflld e Gubp Eeuny

ameaimib
A) 8 I3) 10
C) 18 [} 20

) .
A person purchased a radio at -lﬁth of its selling price and sold it at 8% more

than its selling price. Then his gain per cent is
) 8 B) 10
C) 18 D) 20,

i Wwiremeueh seuflgaliucy yShsshaanan LIy bnd, sadlsll LdlTaamer £ sad, Geals

allenmdaenag aoilu, @née aufiseila dia eraud - G @hléegn S
Al & asmhleney B) G S &ID
C)  wdliy D] eyfeub.

The pupil reads literature on mathematics, solves mathematical puzzles, gives

short cuts for solving problems — these are the specifications of the objective
A) Attitude Bj Hahit

ey Value D) Interest.
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e Fmenily Cateneu Glar@ssing =y, ffluflan Bndlé Gewe

A) mgﬁ!ﬁ@uan’m Sieflé@h wenn wonib Gl aemyueny

Bl  Gaiey wdliGuetsr ameflesr Lr@;i,@rrﬁil;};, allenéain

C)  pyeymener Glumige

D} ellen_gamen whlondm.

The final aciivil}r for the teacher after administering the achievement test is
A Preparation of scoring key and marking scheme

B) Analysis, interpretation of test scores

) Drawing conclusions

D) Evalﬁ ation of answer scripts.

112, umL g4llL g wduSH spgiumide semiEn (PEDEDL 2 (U SEILEUIT

A)JF Qamdufl B)  Guergblen S. Lemb
C) Gumdfug wmif e i D} R. H.Ggsl.

Evaluation-based approach to Lesson Planning was developed by

A) J. F. Herbert ; B) Benjamin 5. Bloom
C)}  Prof. Morrison D) R. H. Dave.
D] ' | Turn over
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I3

115,

D

25 sedormatienr snnedl 15: pn oybadies Gurgr 15 aadp aem - 15 e Seupms
Pt 4y A o PT - o 3 o 3 <

ehitlae ol (B ol erené seio Gl Seciul e g aamGey efiwmen agmedi

M) 62 50 ] 16:2

c) 15 D) 154

The average ol 25 values is 15, On verification it was found that one reading was

wrongly recorded as (=15 instead of [ 15 ). The correcl mean 'is

M) 138 B 16:2

) 15 I3} L5

FIOLEE (PHGHITEOND v oni i GHT OGNS LILTHIHS) Qamenmd GlddT 2 emers).
M) 80" 13) 60°

B 824 8 b 3} 1308,

An equilateral triangle will have rotational symmetry ( angle of rotation ) through
Al 90° I3) B50°
) F20¢ D) 180°.

coth AABC & araiug) miA gyemg mLB il 18° syblan. BC &0 {f e Gurg ghuki

Glevetté: Cmmeoonn 116° aatléo miA =
Al BO*° B 67

C) 49° D] 98%

[160T-RE]
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In triangle ABC, the measure of ZA is greater than /B by 18°. If the exterior

angle formed when BC is produced is 116°, then £A is
A 80° B) 67°

c) 49 ' D) 98

[4'59 x 18 + 36 + 5:4 & %I.JI‘I’&'-L'D —é)@&'rmpg?iu{.

A} 4-685 : B) 2:695
C)  3-259 D) 2596,
T, L Jii

458 % T8 +« 36 ¢ 54 of = s

. 9 5
Al° 4685 : B) 2695
C) 3259 D) 2-596.

S G G:n&r'l'l:l'-?lﬂl':ﬂalzl.LJI;@IG‘flE!TFWEUE:-G‘IﬂG"J &bl eubLD ST 6T 7
Al 1604 . B) 1800

) 2000 D] . 2008
Which of the following 1*-; not a leap year ?

A) 1604 B) 1800

C) 2000 D) 2008

| 100T-RE [ Turn over
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118, suin Sghdlan Uss yeramea) 4 Ge . sflatu@adlomda ega ugoy 60 8 Big b

s B (R PE i e e e R B - R
el 10 LG A LT e :!r,'-f_l;ﬂ:c:_uiuf' ST ,_;';H-;!E::-: IR arliR T, LIy eTL]

A)  B2Gleud B  12G@s.
) 55%Q48 D) 15Ge.b.
If the side of a square is increased by 4 cm, the arca inereases by 60 sq cm. The

side of the square belore increasing 1s

Al G-2 om B F2-em

) 5:5 cm B | 15 cm,

)

T =iy 1 B . ._-__. i e i 1y i AT e L i N
119. 1197215a6 aeip sevor 11 Sy Shlllesm suguL a & GlarRanULL &g W Wlend

Ehemmibe HIIL| eretian

) i B 3

gl

C) - )

What least value must be given to a so that the number 1197215a6 is exactly

divisible by 11?2

120. pelfen yerefilluellen shens

i

B) Grlen Gll-euamiiL e

A) R. A, Qe
= . . g " E
Cj g Grmenblmen 6 D) SerGange.
Father of Modern Statistics is

A . A Fisher [3) Rene Descaries

Pythagoras.

) Eratosihanes 1)

[ TOO1-RE |
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LG&l -V
PART -V
EVS

Euugditiés 30 allam &aa o e . Jmads oo hsersgh alawafises CouamEin.

There are 30 questions in all in this Part. All questions are compulsory,

21. bl eidlminres o siten Usenly Bdves cumil

121 : | |

A) & ITIT L A6GT &l S Femanlhl : B) .!5}1":34] TE0T

) EnhlLyey 2 SHenau(h D) emaunC reoesT.

The mosl abundant greenhouse gas is

Al Carbon dioxide 13] Czone

=
!
S

) Mitrous oxide Hydrogen.
122 p;;aj_]_ug'r,-.'||_'_l-.jrctn Lru,;..'}aﬂ_?:u{i'j[c s 15A L Lt:@—; GLIGITD
A westemmi 2 Wit ligeaemd B] L3 T emiD

) (PG EY ] Giurflwmir,

The most famous Bioreserve in Tamil Nadu is
A) Mannar Blosphere Reserve B) Sundarbans
) Mudumalai 3] Periyar.

123, Lit";'i-lﬂff.iéni-ﬁi o Giran ol Téhih ii':f’: e Ee, I 6331 eatitleta ﬂ'ﬂ@&,\*};!!&]

A 3% B) 50%

(8] | 0% 8] 0-5%,

D] T001-RE] | Turn over
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Of ihe total water available on-earth, only .............. 18 fresh water.

Al 3% Bl 50%

) 10% ) 0:5%.

siblpprE Sype Glesma Shsefles Dhme HULLamefles Lo &0 Suemindth
& Lemen Bil(eTend)

Al veypdi Ceaflégn asdl B) GarLd Blemeupisgl [ UPS

C)  weliTeTsen eusgl D)  eurse Himdah e,

The Governmenl of Tamil Nadu has ‘made it mandatory for all houses and

buildings in the state to install
A) rain water harvesting facility B) UPS
) air-conditioning facility D)  parking facility.

- . (4] B . * : - Iy - 5
T T R W LY T allemen GlLmEL_Genen WDHMID eUlGuhi & IT @RI EmEN erflCiug e

o LMD Lemsileimé ghuBhn aleneiay

A)  meurs GamenmnHen B)  emumi(
C)  uybpGmrL D) anbéed.

The smoke produced by burning of wood and agricultural by-products and

animals Eillllg cake can cause

M) respiratory problems 13] typhoid

Bt CANCEr B fever.
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s §
=3 B F A o T et T ; F rim e e B e pt L + Ll E Ly " it SR e
26, - & whlpel IDMITHD. EarTEd|SHamar edhsil Bre M dnl i b 1992 & B L
3 ! & LA ), A2 ’
[ ERIETT L
GEGLIGLIT “*:,L":-'v-' H B !
A (2 LI g 1oL 3 e ey e ¥ o i
4%, gL EFEY. el EmDLL ) SUEDOT L 60T Sw L amLDLdL

iy CAMEBA 2] Lietl 2 &4 DT RIT R

United Nations Conlference on Environment and Development held in 1992 is

informally known as
A Basel Convention B3] London Convention

2} CAMEBA ) Earth Summit,

e it R b T 2 e i o a1 N 1 e ™~
127 '\.L":!..i_'i.li L eX T chio | BRIT @17 & & (10t (LRSI a&hiTL | :|-'.“.j|

A (BT ELSTIIT ST 3 LOIf EIEDYETT LT SR T & e

Nk L6y & orhlemey D) esmeusT LMLy,
The prineipal aim of the National Forest Policy is to ensure

A Conservation of water 1) Conservation of trees

8] Ecological stability [ Conservation ol soil.

R, 0 e LB p F =t L £ b il B =
ILLD ’;"'J"r"'t”‘“"'\'!!_l,;i‘-'“-"ﬂf'|‘ IRL_MiLe , LOMRSEHET nleull

B)  srfsemen o kel Sumaan

) ST (R EET  ELISTIT & 560 D)~ smeymsen,

Cutting of trees without planting new trees in return is known as

A deforestation 3} alorestation

C) growth of forest D) fertilization.

[D [T00T-RE] | Turn over




WWW.tnpscquestionpaper s.com

TNTET (RE)-1 56 .
129. g 2lfl @ wrsslalllda B8sr siwag gerdesr dGar Gugieurs G g

Guirg Ly Bingeangl Glunding. G)euayulf
Al udell - B Gleul (Rédlet
C)  wedoryp D) IJE—@H—I’I.'E@.

An organism which turns brown when it moves slowly on a bark or on the

ground is
A) an ordinary lizard BB) a grasshopper
) an earthworm D] a chameleon.

130. @iblp Gleupml ué,ﬁi_ith@ér}@ udlevre Gleosl LwsLBEdlard 40% L&Eﬁ%ﬁ][ﬂ@@&

Gellaserin

A) @ Tl @Gﬂ B) s

C) Qg i bleteupiidl ( UPS ) D] @pe allensg.

By using.................... instead of bulbs. we can save up to 40 per cent of
clectricity. i .
A) Sunlight < B)  TBattery

E) Urs D) Tubelights.

181. deow aflmareléssonqu sflasellond shnsopd oflsd urdlesiufashse

T ] &7t

A) STH) BIrsr LIRS
B) rdlagsy B oraufss
C)  dleturiy sy éadlmbiiy eidleflsse

) GUITLD b dlemgaman.

| [D]
|
S ———— T L e (— = e
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The mosi serious environmental effect posed by hazardous wastes is
A) air pollution

B) contamination of ground water

| increase use of land for landfills

)] destruction of hahitat,

132, @kdlwuralla dle Curewrs Gleustendsma umdl&EasuUCL okl

Al o gdly SoCasen B) s
C) ,tbl_ﬁ‘lgp[hrz-ﬁ D) g_i‘l‘bglg Wikl euin .
In India, ...................... is considered to be amongst the worst flood hit states of

the country.

A) Utlar Pradesh B] Bihar

) Tamil Nadu . ) Andhra Pradesh,
133. 2 a5 genaller bls oflewres sremiiufh Curblayssn

A)  eflwener Qeugiiy Bl  yull ol

C)  Hlevdaflay D) GleustenuGlLmes.

Globally, the most prominent disasters are

A Volcanoes B) Earthgquakes
) Landslides D) Floods.
@ [TOOT-RE ] [ Turn aover
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134. afle] @iou Gummplsamer  afhs. mé ahEesTanueten, (wl@h whHni e | it

oy " .
1] (L IEH
1] '\.'.'.-'I Fe3H lehiin

GlElwdaay . BrETGeensUTs:  (NdEmeurs. Eeunmien ea  sifin

A) dlameug & emUsen 1) £ 600 6001 Tig
bt 3 x . IS
€] ¢ Gewrsin D] amisdl sifle.

Garbage can be pul under four categories - organic, toxic, soiled and recvclable

Of these example for organic type is
A plastlic bags B} glass
Ci metal D} wvegetable peels.
135 [Elaﬁ;[|;.l'j;hiaearmfijgﬂé;' 4] I &) @ﬁﬁ]l.lﬂ%é}‘s&.t._.l?f_ﬁ{__ﬂ G 7
Al F G i S Ln sy BHis e
B)  scremiisenen QIR Clanenaalallnsmd
C)  gaflba wemie Clemerenad
D) seusgwrs GleefBumisd.
What is not recommended during an carthquake ?
: M) Take shelter ) Stay away from windows
& To hide D} Run outside.

136, ysip aumdihs grsbwamnmedle Glumeleaure Garbnbh @onhsshms sy

A) sGare S ia) wanmsd
| B)  spbles wmenp
C) 2 evs Gleulipwinst s

D) erfheaen sifigse.
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Reduction in the brightness of the famous Taj Mahal is {1111~.1{1 the
M) Ozone depletion

I3) Acid rain

C) Global warming

) Deforestation.

Sudluoreushe &b

o B a .
F37. nemipmi Gaarlsse

Al gpelibleun gy o esstib e prt edleflsed

i3] LIGHENT LI DM B80S SR D 11D i amm Sy
C)  sjement BN S homT oD @D

F a0 o P
I3 Sidla seralld alcnm s,

==

The need for rain water harvesiing is because of
b

A) cxcess of rain water every year

i3) decrease in surface and ground water level
) decreasein dam and river water

) excess waslage of rain water.

138. shésmamisubnel eusielleving siblsaise sflure sryemb

A} sdlewrs Guoise B) @uhens Guilir

) Ty Ry DS TR [, EE S | - e
) EUIT Pl D & 1605 S &0 )] SRS,
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Which one of the following is the most appropriate reason for

exlinetion 7

Al Overgrazing B) Natural cr:almmti{:s
C) Ha.hit;lt destruction i) Mining.
meudlifl @it et LT EBTHSLILED @)L b

A | e :..'JF:‘-‘-G'-.‘. ELIEHT I SURiE 6] GODTIT EuILID

_r.‘a] FHEnG TR eueoelleukig, 8 TemTeowid

C) (pginemen euers W &1 eoatmaulb

D) @hdlrrankdl auemre M g ressimans

Nilgiri Thar is conserved in

A Anaimalai ".Ie'-i’iltifill? Sanctuary

3) Kalakkadu Wildlife Sanctuary

) Mudumalai Wildlife Sanciuary

8] Indira Gandhi Wildlife Sanctuary.

@\swsems mhmue o Byl R L sib

A LIETRIT T : 3 (ol .'.‘ﬂt'f':l"ﬁ{i]rll_lb
C) eouwT@w L _ D) GuorGolrr,
The heart is covered by a protective double walled sac called

M) Pleura [ Pericardium

2] Piamater 3} Duramaler.
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= C % e ) et T
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T AL AR ERIT

= 5 ¥ o e S
i e e S I
\ole U R F:.l:“\_-__.|

R e Bt e L il S T gy ]
e BREBITEENET LIGENIDE)E UM S SHESIDE.
A)  ypemen sgln B}  &momedl
0

. . s | * e L
C} e &HENT SEnEuHET ) &S Heutil HHITHan,

Greenhouse gases prevent most of the outgoing ... radiation ffom the
surface and lower atmosphere from escaping into cuter space.
A) ultraviolet B) gamma
) micro-iwave 2] infra-red,
142. Birds samanmbilar Gaud@uw
CA) enddlub smuGeaTi B)  srddud S &amen®
2

2} - srddlub enami g emen(h D)  srddlub-sou-sniuGer .

Chemical name of slaked litne is

A) Calcium carbonate k) Calcium oxide
C) Caleium hydroxide I3) Calecium bicarbonate.

143 . cusmz Oiflerb srem Lig)

A < 6T

o=

& allevii@aEnin euenmhlyHhla G)mLLIS)

RLD GLIGTT

B)  oenands 67U RGEHD, ek s hElradle @mliug

&) SiEmen ) GTeurTD whnd aileikmssT ST (Ed 5 e TS CUSTkHE

)

X E oy TR g - & L T oL el S e Sl |
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Wildlife means

i) all animals in wilderness

3) all plants and animals in wild

C) all plants and animals growing wildly
) any living form in its natural habitat.

144, yainllisesdoagw Bubes apeulb

A) el et B) LD GLST 6
| M D) ugw aflQumEmeTsar.

An example of a renewable resource is
A clay B} sand
| water : ) fossil fuel.
145, yallbler gpCGanet 25w Cuellgelleima ghufb Seamw
A uedlurodar spmefl Geutuglenes L lugwrs sflaflsse
B 5 .'-iimlf:n:-\.'b.‘fﬁ: @.:.&,E'?E‘Iai:- 2. aflaf %&mgﬂﬂ UETEY| (HHERT ey
C) mEle sereurer upzasT GElTaer ualilldn LTleL el B
D) simen Lelliurenn LIGOLGLTS 2 (HEMSTE SLABT LD 2 WHEe.
What is the harm from the depletion of Earth's ozone layer ?
A) The average temperature of earth's surface will i]lCTf&.':-]SC gradually

B) The oxygen content of the atmosphere will decrease

] Increased amount of ultraviolet radiation will reach earth's surface

=

D) Sea levels will rise as the polar ice caps will gradually melt.
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] erden y .l".}J ;;3_;3-“-:.'.'*’ EA R
World Environment Day is celebrated on ... e EVERLY AT,
A 12th June [3) 5th-June
| Hth Jun 3] 20ih June.
147. euefloan esdlar £ 205

A) s G meru Slu B)  GladGuwraodiu

7 CBrmoGum e T 13 B et el

The lowermost layer of the atmosphere is

Al stratosphere 3] thermosphere

) troposphere ] ionosphere.

148. Geulbl| ereimiig)

A) 2 il 2 i B)
i 2 Il Ly & 1G5 meuell D)  Ughens Llemeuell.
Neem is a

A) bicfertilizer 3] herbicide

) biopesticide : 12) fungicide,
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149. evamiorl s Uellewl L ddlbe  srpemin  auellinedor_addle o eter  siflalucwrer | (]
crrene <24 SETVED F (HIG ST EHLD - !

A)  eomplgse B) s |

C)  emiue D) ureoLye. p | |
London smog was caused mainly due to excess of oxides of ................ in |

atmosphere. : _ |
A) nitrogen _ B)  sulphur
| carbon ' | phosphorus.

150. 2 ewdi@euGuw blar@ufiu srhmene Licienemsr Blimé@blbD

A) &e0l Quirrrentlwm B) . - susrleurmhg .
|
C)  @pgun D)  Gl&keuamen,

The world's largest wind farm is located in
A) California BB) Scotland

C) India | | D) Texas.
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